Multiplication de Deux Binomes par un Trinome (H)

Simplifiez chaque expression.

1 (60 — 90)(—v* + 4v*)(—4v* + 6v — 4)

2. (6n° — Inh)(—8n° + Tn?)(—3n® — 2n* + 4n)

D

3. (4k° — 6k*)(=3k* + 5k%)(=Tk* — 9k + 8)

L (20° — 40t) (=80 — 3v?) (—vt — 20% 4 9v?)

Ot

(=9t = 3%) (=Tt + 5t (5t° + 3t + 4t°)

6. (99° — 49*)(59° — g")(—=7g" + 8¢ + 2¢%)

3

- (—=v* + 3y) (5y* + 5y%) (3y° — Ty* — 6y)

8 (—62% —92%) (=522 + 2)(=52" — 32* — 82%)

e

). (=96 + 5¢%)(—c + 5)(—4c* — 5e + 5)

10. (5d — 6)(—5d + 2)(8d* 4 4d® + 7d?)
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Multiplication de Deux Binomes par un Trinome (H)
Réponses

Simplifiez chaque expression.

1 (607 = 90)(—v* 4 40%) (—40® 4 60 — 4)
= 240% — 1680”7 + 3660° — 3480v° + 144v*

(6n° — 9n*h)(—8n° + Tn?)(—3n® — 2n* + 4n)
= 144n"® — 246n'% — 231n" + 582110 — 252n"

\}

- (4K° — 6K*)(—3K* + 5K™) (= Tk* — 9k + 8)
— 84k — 158K10 — 298KY + 574k8 — 240k

o

(207 — 40*)(=80° — 3v%)(—v* — 20° + N?)
= 1602 + 60 — 2080 + 2100 + 108°

Ut

(=9t = 3%) (=71 4 5t%) (5t° + 3t + 4t7)
= 315t 4 69¢1% + 10512 — 14141 — 60¢1°

(99° — 49°)(59° — g")(=7g" + 8¢° + 2¢°)
= —315¢'% + 563¢* — 170¢'" — 26¢° + 8¢°

-3

- (—=v* + 3y) (5y* + 5y*) (3y° — Ty* — 6y)

[

= —15y° 4+ 65y® + 53" — 165y — 90y°

8 (=621 — 92%) (=522 + 2)(—52° — 32* — 82°)
— —1502" — 285210 — 31227 — 28528 + 7227

(=96 4 5¢*) (—c 4 5)(—4c® — e+ 5)
= —36c% + 155¢° 4+ 195¢* — 375¢° + 12562

Ne}

10. (5d — 6)(—5d + 2)(8d* + 4d* + 7d?)
— —200d° + 220d° — 111d* + 232d% — 84>
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